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X[n]«—— X (2) x[n] <« y(2) Lol cglis
X[n—1]«~—z77"X(2) X[N—1]«~— 727" y(2) + X[-1]
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Z Transform

ad,b S Z o ples
ol 48 bes Z Lo b alive a3 S0 Z Lo plss 5l g ks

V-2 Joua
X[n]«—— X (2) x[n] <« y(2) Lol cglis
x[n +1] «~*— zX (2) X[N +1]«— 2y (2) — zx[0]

X[n+2]«~—>7°X(2) X[N+ 2]«—~— 2% y(z) — 2°X[0] — zX[1]
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Z Transform /
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y[n]+3y[n-1]=x[n] y[-1]=0
PR _p@)_ 1
0(2) +327p(z) = x(2) H(z) = ) 1i3
x[n] =au[n] 0(2) = y()H(2) = _la -
3a a (1+3z7)1-2z7)
0(z) = 2(2)H(2) = (1+gz_1) ¥ (1_42_1) y[n] = % (3(=3)" +1u[n], n>0
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Z Transform

B,b SO Z Lo 3 colaswl b Jowl pa o Y oleo o>

y[n]+3y[n—-1]=x[n] yli-11=5 X[n] = au[n]
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0(2)+32 " p(2) +3y[-1] = x(2) () =

(D)= y[n]=|5(-3)" +4k[n] n=0
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